TECHNICAL SERVICE PARTS TR

AKRON STYLE 3356 05 06-14

BRASS COMPANY PRODUCT GEAR MOTOR SUBASSY

-ROTATION

@ -ELEVATION

-ROTATION

-ELEVATION
NOTES:

USE PARKER 0-LUBE ON ALL O-RINGS
UNLESS SPECIFIED OTHERWISE .

USE PERMABOND LM113 OR LOCTITE 222.
USE PRIMER T AND LOCTITE 277.
USE LUBRIPLATE LOW-TEMP GREASE.

DIMPLE AT ASSEMBLY.

<
>
> B B>

-ELEVATION ORIENT BELLVILLE WASHERS AS SHOWN.

@ -ROTATION @ USE LOCTITE 680.

-ELEVATION

-ROTATION

/2\THREADS ONLY

PHONE: 330.264.5678 or 800.228.1161 | FAX: 330.264.2944 or 800.531.7335 | www.akronbrass.com Parts List Sheet:

WARRANTY AND DISCLAIMER*: We warrant Akron Brass products for a period of five (5) years™ after purchase against defects in materials or workmanship. Akron Brass will repair or replace product which fails to satisfy this warranty. Repair or replacement
shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service. We will not be responsible for: wear and tear; any improper installation, use, maintenance or storage; negligence of the owner or user; repair or 1 23878

modification after delivery; failure to follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY STATEMENT, AND WE
DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, incidental or indirect damages (including, but not limited to, any loss of profits) from
any cause whatsoever. No person has authority to change this warranty. *Unless otherwise provided herein. Akron Brass industrial electronic components & the Severe-Duty Monitor have a one (1) year warranty. Select Akron Brass handline nozzles and valves

carry a ten (10) year warranty. Weldon products have a two (2) year warranty from date of manufacture (excluding consumable components). Select Weldon LED products carry a five (5) year warranty. Honda products have the manufacturers’ warranty and
Akron Brass disclaims any warranty in respect of those products.

©Premier Farnell Corporation. 2012 All rights reservered. No portion of this can be reproduced without the express written consent of Premier Farnell Corporation




TECHNICAL SERVICE PARTS “re_ et
| » QTyY 04 10-13
AKRON Find Description ftem ROTATIONAL | ELEVATION 05 06-14
STYLE 3356 301 |MOTOR GEAR 24V 35982007 1 1
BRASS COMPANY 304 | O-RING 2-029 757056 1 1
PRODUCT GEAR MOTOR SUBASSY 305 | SCREW SOCKET HEAD CAP 8-32 x 1-3/8" 765278 3 3

306 | GEARBOX PLANETARY 121589 1 1
307 | SCREW SOCKET HEAD CAP W/PATCH 6-32 x 1/2" 765052 4 4
308 | GEAR INTERNAL 718192 1 1
309 | SCREW SLOTTED SHOULDER 1/4D x 5/16 x 10-32 803059 3 3
310 | SHAFT OUTPUT 770371 1 1
311 |PIN ROLL 1/8 x 1/2 744288 2 2
312 | BEARING ROLLER NEEDLE 704395 3 3
313 | HOUSING GEARBOX 122905 1 1
314 | WASHER UHMW 784229 3 3
315 |KEY WOODRUFF 1/8 X 1/2 727025 2 2
316 |SPROCKET 10 TEETH x 1/2 BORE 769499 1 1
317 | SPROCKET 16 TEETH 770369 1 1
318 | O-RING 2-047 757202 1 1
319 | O-RING 2-023 757345 1 1
320 | SPRING 768403 1 1
321 | WASHER THRUST 784111 4 4
322 |BEARING NEEDLE 703453 4 4
323 | COVER GEARBOX 122906 1 1
324 | SCREW HEX SOCKET SHOULDER 5/16D x 3/8 x 1/4-20 767131 3 3
325 | SCREW SOCKET HEAD CAP 1/4-20 x 5/8" 765029 3 3
326 | O-RING 2-012 757282 1 1
327 |O-RING 2-116 757113 1 1
360 |BUSHING HANDWHEEL (ROTATIONAL) 123080 1 i
328 |BUSHING HANDWHEEL (ELEVATION) 121871 i 1
329 | SCREW ALLEN HEAD 1/4 -20 x 3/16" 765008 1 1
361 | CRANK HANDLE (ROTATIONAL) 807002 1 i
330 | CRANK HANDLE (ELEVATION) 807003 i 1
361* | CRANK HANDLE (ROTATIONAL) 807019 1 i
330* | CRANK HANDLE (ELEVATION) 807020 i 1
331 | SPINNER PHENOLIC 770384 1 1
331* | SPINNER PHENOLIC SPECIAL 109998 1 1
362 | SHAFT HANDWHEEL (ROTATIONAL) 769928 1 i
333 | SHAFT HAND WHEEL (ELEVATION) 769929 1
334 | SCREW CUP POINT SET 1/4-20 x 5/16" 765047 2 2
363 | EXTENSION HANDWHEEL (ROTATIONAL) 123073 1 i
335 | EXTENSION HANDWHEEL (ELEVATION) 121872 i 1
336 | RING RETAINING 758149 2 2
337 |SPACER 769495 2 2
338 | CHAIN ROLLER 706923 12 12
340 |O-RING 2-036 757312 2 2
341 | GEAR PLANET 718262 3 3
342 |BUSHING 703989 3 3
343 | O-RING 2-011 757254 4 4
345 | SHAFT WORM 770370 1 1
346 | WASHER THRUST 784121 4 4
350 | BEARING 3/8"ID 704393 1 1
351 | SPRING BELLEVILLE 769276 4 4
352 | KEY 727044 1 1
353 | GEAR WORM 718273 1 1
354 | SCREW SOCKET HEAD CAP 1/4-20 x 1-1/4" 765277 4 4
359 |LINK MASTER 729092 1 1

*FOR UNITS WITH LONG SPINNER ONLY.

PHONE: 330.264.5678 or 800.228.1161 | FAX: 330.264.2944 or 800.531.7335 | www.akronbrass.com Parts List Sheet:

WARRANTY AND DISCLAIMER*: We warrant Akron Brass products for a period of five (5) years™ after purchase against defects in materials or workmanship. Akron Brass will repair or replace product which fails to satisfy this warranty. Repair or replacement
shall be at the discretion of Akron Brass. Products must be promptly returned to Akron Brass for warranty service. We will not be responsible for: wear and tear; any improper installation, use, maintenance or storage; negligence of the owner or user; repair or 1 23878

modification after delivery; failure to follow our instructions or recommendations; or anything else beyond our control. WE MAKE NO WARRANTIES, EXPRESS OR IMPLIED, OTHER THAN THOSE INCLUDED IN THIS WARRANTY STATEMENT, AND WE
DISCLAIM ANY IMPLIED WARRANTY OF MERCHANTABILITY OR FITNESS FOR ANY PARTICULAR PURPOSE. Further, we will not be responsible for any consequential, incidental or indirect damages (including, but not limited to, any loss of profits) from
any cause whatsoever. No person has authority to change this warranty. *Unless otherwise provided herein. Akron Brass industrial electronic components & the Severe-Duty Monitor have a one (1) year warranty. Select Akron Brass handline nozzles and valves
carry a ten (10) year warranty. Weldon products have a two (2) year warranty from date of manufacture (excluding consumable components). Select Weldon LED products carry a five (5) year warranty. Honda products have the manufacturers’ warranty and
Akron Brass disclaims any warranty in respect of those products.

©Premier Farnell Corporation. 2012 All rights reservered. No portion of this can be reproduced without the express written consent of Premier Farnell Corporation




	Sheet 2
	Views
	new_view_12

	Zones
	A1


	Sheet 3
	Zones
	A1



